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Table 1. Children by Work Status 
 

 All Girls Boys 
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Table 4.1. Switching Probit Model for Child Work and the Transition to Secondary 

School (Coefficient Estimates) 
 

 Work equation Transition to secondary equations 
  Working state Non-working state
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Table 4.2. Switching Probit Model for Child Work and the Transition to Secondary 

School (Marginal Effects) 
 

 Work equation Transition to secondary equations 
  Working state Non-working state 
 Coeff. t-ratio Coeff. t-ratio Coeff. t-ratio 
Girl 0.007 0.316 0.090 1.411 -0.014 -0.951 
School entry age 0.033 4.443 -0.069 -2.832 -0.020 -3.824 
Current age -0.006 -1.242 0.015 1.450 0.013 3.815 
In school in or after 1992 -0.073 -2.436 0.210 2.259 0.111 5.903 
Mother’s education -0.013 -2.622 0.041 2.314 0.017 4.131 
Father’s education -0.005 -1.742 0.013 1.762 0.007 3.012 
Modern latrine 0.001 0.061 0.149 1.665 0.057 3.969 
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Figure 1. Estimated Marginal Treatment Effects (
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Table A.2. Kaplan-Meier Estimates of Survival Rates to Each Grade 
 

 All Girls Boys 
 Survival Std.Error Survival Std.Error Survival Std.Error 
Primary       
  Grade 2 0.9882 0.0024 0.9848 0.0039 0.9917 0.9546 
  Grade 3 0.9601 0.0044 0.9655 0.0058 0.9546 0.0067 
  Grade 4 0.9091 0.0065 0.9134 0.0090 0.9047 0.0094 
  Grade 5 0.8621 0.0078 0.8668 0.0152 0.8573 0.0113 
Junior secondary       
  Grade 6 0.7078 0.0105 0.6774 0.0152 0.7386 0.0143 
  Grade 7 0.6703 0.0109 0.6409 0.0157 0.7000 0.0150 
Secondary       
  Grade 8 0.6240 0.0114 0.5949 0.0163 0.6533 0.0158 
  Grade 9 0.5625 0.0120 0.5078 0.0172 0.6171 0.0165 
  Grade 10 0.5223 0.0125 0.4553 0.0179 0.5888 0.0171 
Higher secondary       
  Grade 11 0.4025 0.0141 0.3282 0.0194 0.4760 0.0199 
  Grade 12 0.3220 0.0162 0.2639 0.0219 0.3796 0.0237 
Higher education 0.2505 0.0222 0.1783 0.0323 0.3155 0.0309 

Notes: Based on unweighted data. The likelihood ratio test for the null hypothesis of no gender differences 
in survivor functions is rejected (χ2(1) = 13.75 (0.000)). 
 
 
 
 
 
 
 
 
 
 
 
 


